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1|—fEE23S 2015 303 10100| R B AWK B IRETIIE £ 4 AR S IRET 5K 0.5 11 11 0 0 100
2| —fREE235 2015 303 10100 (54 ERA & WRHT R £ 2 A E IRET = I 0.6 10 2 7 1 20
3|—HkEE235 2015 303 10100| 5 4 AR K &5 WHET = I SR EAK S BT R %8R P 0.6 20 20 0 0 100
4| —HREE4215 2015 324 11670| E BB BRTKF VK SR ERTKFSE 2.9 14 14 0 0 100
5| —fkEE4215 2015 324 11670 B F+ AR B BT K=F S HY BRAMREHTKRF AR 1.0 33 33 0 0 100
6|FMEFRE R 2015 324 40380| B F+ AR B AT KF B HY BFMREBTKFINK 2.7 233 210 0 21 90
1 RERER 2015 324 60390( & #+ AR BRI KF LU H ERERERKFANBEHH 0.9 11 11 0 0 100
B|RBRER 2015 324 60390| E HF AR EMTAF K BRABREMMKFRER 20 2 2 0 0 100
9|—HREE306 S 2021 341 11280| = E BB FHTEE = ERIREFET IS 25 95 95 0 0 100
10(—fiREE306 5 2021 341 11290 = E ABIREFHT K F IR EF =ERMIRBFETRFHEN 6.5 285 285 0 0 100
1|—REE477S 2021 341 11870| = ERRFREFHT K FHEHT = ERIREFRT K FIREF 1.7 374 374 0 0 100
12| —REE4T7S 2021 341 11870 = ERRIREFHT K F IR FF = EAIMEFRT R FIMEP 2.1 215 215 0 0 100
13| —REE477S 2021 341 11870 = E RRIREFHT K F R Fr ZEMMHFEAIRFTE 0.5 4 4 0 0 100
14| —RREE1S 2021 343 10020( = E#REA B BT KFHB4E =EMFABRTKFEE 0.4 22 22 0 0 100
15| —fEE1S 2021 343 10020| = EZREARABT K FHEE —EMFARETKRFREE 0.3 78 75 3 0 96
16| —EE15 2021 343 10020| = E#REARBT K FHEE ZEMF BRI RFRE 0.2 39 39 0 0 100
17| —REa15 2021 343 10020| = EFREA QBT K FHEE = EEABETRF /M 12 48 48 0 0 100
18| —fREE1S 2021 344 10020( = E ) IEET KFESH—& ZERIBEHRFESH—€ 0.3 16 16 0 0 100
19| —fEE1S 2021 344 10020( = E ) IEBTKFEH— ZERIBERFESH—B 0.1 1 1 0 0 100
20— EE15 2021 344 10020( = ER)IEBTKFEH— ZERIBERFSH—B 0.2 10 10 0 0 100
21— EE15 2021 344 10020( = E /) IEBTKFEH— ZERIBETRFE0R 0.3 49 49 0 0 100
22| —EE15 2021 344 10020 = ZE 2B )IAET K Fm =ERIETKRFE 1.1 230 230 0 0 100
23| — i EE235 2021 344 10120| = E B)IEET K F L $TH = EER)IEET K7 L3 H 0.2 38 38 0 0 100
24| — iR EE23S 2021 344 10120( = E &) IEBT KF 2 $TH =ERR)IRET KF Z$H 0.2 0 0 0 0 0
25—k EE235 2021 344 10120| = E ) IEET KF L% H = EAR)IET K7 L3 H 0.1 1 1 0 0 100
26—k EE235 2021 344 10120( = E I BT K=F Z %1 H =ZE AR EET K F IR 0.5 37 20 12 5 54
27| — R EE235 2021 344 10120 = E 2B)I BT K =F Ea fa I = E B IET K F Rt 0.1 79 69 6 4 87
28| — R EE235 2021 344 10120| = E &)1 #EHT K F R f& 5% ZEAR)IET K F RIEI 0.2 9 4 3 2 44
29| — iR EE235 2021 344 10130| = E BRI T K FRaf& 5% = EAR)IET K F R R 0.1 4 2 0 2 50
30| — R EE235 2021 344 10130| = E 2RI BT K FRaf& 15 = E AR K F R 0.1 25 25 0 0 100
31| —fiREE235 2021 344 10130| = E &) I BT X F Rt I& = E AR ET K F R 0.2 13 13 0 0 100
32| — Ak EE235 2021 344 10130| = E D) I BT KF Rt 15 =ZER)IET K FRIFHH 0.3 38 30 8 0 79
33| —fkEE23 5 2021 344 10130| = E B IEET K FEIGHH = E BRI EET K F R 12 0.3 62 62 0 0 100
34| —fREE23 S 2021 344 10130 = E B)IABT K F a2 5% ZERIBETRF S0 0.3 3 3 0 0 100
35| — R EE23S 2021 344 10130( = E A)IART KF &R ZERIBERF S0 0.7 1 1 0 0 100
36|F A MBTHHR 2021 344 60710| = E 2RI #ET K FRI1215 ZE AR EET K F IR 1.0 108 103 3 2 95
37|ZLMBTHHR 2021 344 60710| = E 2RI #ET K FRI1215 ZERIBETRFE0R 0.4 34 34 0 0 100
38| Z/\KH#R 2015 441 60570| % [ AR L [ET{ZH Z A% [HETHR ] 0.8 3 3 0 0 100
39| B R/\KH#R 2015 441 60570( % KU AR & SUHTHE ] Z AR % [BTFE Al 1.0 56 56 0 0 100
40 (RS IMRIRBR AR 2015 442 60830| % [UERBAFNETHT X E % URREAFNET L 57 2.6 323 323 0 0 100
41|PRBERIR 2021 461 40330|FE = AR E W HET £ B A VAT E 25 154 154 0 0 100




